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QUESTION 1

Default application settings are shown in the image. What two edits do you make to the advanced configuration based
on information in the reading passage? (choose two) 

A. Deselect Create demonstration users\\'\\', 

B. Edit the Division name to UK\\'\\', 

C. Edit the organization name to BCO 

D. Select Framework\\'\\' as the Application structure. 

E. Select Framework 

Correct Answer: CD 

Explanation: You are working with BigCo to create an application for insurance quoting. BigCo is a multinational
corporation that has traded on the NASDAQ as BCO. BigCo headquarters is located in the UK, and the company has
division for each geaographical location. You expect the application to contain two type work: Quote and policy. The
Quote guides the sales representative through one or more quotes with the customer. Each quote must be retained by
the system and visible to the sales representative and the manager. Any data capture during the quoting process must
be available to the Policy case. The Policy represents the accepted insurance quote. For the next year, BigCo intends to
use the insurance quoting application only for the personal insurance business in the United Kingdom. Joe, the business
architect, is working with BigCo, subject matter experts (SMEs) to understand the quoting process. Joe uses Pega
Express to develop the quoting application with the SMEs. 

 

QUESTION 2

XYZ Corporation would like a report that shows the number of employees who have been with the company more than
20 years, between 15 and 20 years, between 10 and 15 years, between 5 and 10 years, and less than 5 years. How do
you implement this report using Pega? 

A. Use a SQL Function. 

B. Use a listView with a custom getContent Activity. 
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C. Use a correlated subreport. 

D. Use a Connect-SQL rule. 

Correct Answer: C 

 

QUESTION 3

DRAG DROP 

You are managing distributed, geographically dispersed, development teams A, B and C. 

Team A is ready to merge changes into their development environment to make available changes to Team B\\'s Team
C\\'s. 

To ensure all development teams are working with the latest version of shared rule base, select and move all of the
following tasks to the tasks List Order column and place them in the correct order. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 4

Security policies need to be configured for a newly developed Pega application using basic credential authentication.
The lockout policy configuration must lock out users after three failed login attempts. The configuration must exclude
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Administrator or Executive operators from the lockout. 

How do you achieve this requirement? 

A. Define operator override setting in enterprise authentication system 

B. Create a separate role for Admin Executives 

C. Use Exclude Operators options in Security Policies landing page 

D. Define Access Control Policy to exclude Admin Executives 

Correct Answer: A 

 

QUESTION 5

APP Studio created a data type in the Organization layer for Quote data called BCO-Data- Quote. How do you help
users find rules from this data class when working in APP Studio? 

A. Create a BCO-QI-Data-Quote class that inherits from BCO Data-Quote. 

B. Use a Data Reference to configure the rules that you need from the BCO Data Quote class. 

C. Copy the fields in the data class to the BCO-QT Work- class so all subclasses can see the Quote rules. 

D. Select each rule you want to reuse in the application as a relevant record. 

Correct Answer: D 

 

QUESTION 6

APP Studio created a data type in the Organization layer for Quote data called BCO-Data Quote. How do you help
users find rules from this data class when working in APP Studio? 

A. Create a BCO-QI -Data-Quote class that inherits from BCO Data-Quote. 

B. Use a Data Reference to configure the rules that you need from the BCO-Data-Quote class. 

C. Copy the fields In the data class to the BCO QT Work- class so all subclasses can see the Quote rules. 

D. Select each rule you want to reuse in the application as a relevant record. 

Correct Answer: D 

 

QUESTION 7

A pega application has cases that represent customer accounts each with many members. 

When a member of a customer account registers with the application through an offline component, a related
registration transaction is recorded. An advanced agent updates the customer account cases with new members. The
application is running in a multimode system and advanced agents are enabled on all nodes. Which two elements are
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valid design choices? (choose two) 

A. Use the optimistic locking option on the case types. 

B. Create a Registration subcase configured to run in offline mode. 

C. Leverage the default object lock contention requeuing capability. 

D. Override DetermineLockString to use .AccountID instead of .pyID as the lock string. 

Correct Answer: BC 

 

 

QUESTION 8

MyCo.com has instances of SCM-F5, SmartDispute, and CPM-F5 in their Production Environment distributed across
multiple Pega instances. A new business requirement states that users working in any one application cart create a
case in any other application. 

What is your recommendation to implement the new business requirement? 

A. Synchronize case creation with RFST services. 

B. Leverage database replication to communicate case creation. 

C. Implement Federated Case Management. 

D. Implement a parent case across multiple products. 

Correct Answer: C 

 

QUESTION 9

You oversee a medium-size development team. Some of the team members and new to Pega and are working on
features in a separate branch. What are two ways you can ensure that the rules the team creates adhere to best
practices? (Choose Two) 

A. Run 1 rarer on each new rule in the branch that new team members check in to identify any failures in rule
execution. 

B. Leverage the branch review feature to have senior team members validate the branch contents. 

C. Use Pega Log Analyzer to locate any exceptions in the branch associated with the new team members. 

D. Review the branch quality to identify any rules with guardrail warnings. 

Correct Answer: BD 

 

QUESTION 10

PEGAPCLSA85V1 VCE Dumps | PEGAPCLSA85V1 Exam Questions | PEGAPCLSA85V1 Braindumps                               5 / 8

https://www.pass4itsure.com/pegapclsa85v1.html
https://www.pass4itsure.com/pegapclsa85v1.html
https://www.pass4itsure.com/pegapclsa85v1.html


https://www.pass4itsure.com/pegapclsa85v1.html
2024 Latest pass4itsure PEGAPCLSA85V1 PDF and VCE dumps Download

XYZ Corporation wants to ensure that every attempt by a developer to check a rule into a certain ruleset version is
reviewed before that rule is allowed to be checked in. The rule should be automatically sent back to the developer
without being checked in if all warnings are not justified and the fields on the history tab are not complete. 

How do you address this requirement? 

A. Prior to the first assignment in the ApproveRuleCheckin flow, add a decision shape where one output connector is
equivalent to the submitting the SendBack flow action. 

B. Implement a CheckForCustomWarnings activity for each rule included in the requirement. The activity issues a
warning whenever the requirement\\'s history tab criteria are not met. 

C. Override the FindReviewers decision tree to invoke a when rule that evaluates the criteria, if the when rule returns
true, the decision tree returns SendBack. 

D. Override the SendBack Flow Action adding a pre-ctivity that transfers the assignment to the create operator if the
rule\\'s criteria are not met. 

Correct Answer: A 

 

QUESTION 11

Set the three security tasks you perform when deploying an application to a production environment. (Choose Three) 

A. Delete the Unauthenticated access group. 

B. Restrict access to ruleset configuration. 

C. Change the Rule security mode setting on the access groups to Deny. 

D. Rename the PRServlet default servlets. 

E. Update standard dynamic system settings. 

Correct Answer: BDE 

 

 

QUESTION 12

DRAG DROP 

BigCo is planning an update to JVM settings on all production nodes at the of the month. 

The production application supports high availability. 

To ensure that users can continue working without distribution while the JVM changes are in process, select and move
all of the following tasks to the Task List Order column arrange then correct order. 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 13

A Customer Service application requires customer data assembled from multiple external systems. The customer data
is captured by a parent case. Subcases of that parent case need to reference the same customer data.The customer
data must be as current as possible. 

Which two options are used as part of the solution? (Choose Two) 

A. Have each subcase load a portion of the customer data prior to updating the parent case. 

B. Use the Snapshot data access pattern to capture the customer data prior to subcase spin off. 

C. Load the customer data in parallel using the Load -Data Page and Connect-Wair methods. 

D. Use the System of Record (SOR) data access pattern when capturing the customer data. 

Correct Answer: CD 

 

QUESTION 14

The application contains a property named claimid. You want to business users to reuse this property in any new case
types they create. How do you define the claimid property? 

A. As a final rule 

B. As a case level property 
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C. As an enterprise class level property 

D. As a relevant record 

Correct Answer: D 

 

QUESTION 15

In the Answer Area, determine where data is stored for each design option. 

Correct Answer: Check the answer in explanation. 

Letter Description automatically generated 
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